do
dsqrt{

=
o

} [pb,GeV ]

Ratio to ATLAS

=
o
w

d_3
=
e

107t

1072

1073

10

0.5

8000 GeV pp Z (Drell-Yan)

El I I I L | I I I I T T | =
- Splitting scale\/dﬁ3 (71 <m <111 GeV) N
= : RN | =
_ Lm _
= 3 =
- Y -
= -\ u =
- Nom =
- N .
| \I B
— m ATLAS .
=— —— Pythia 8.308 default =
— Pythia 8.308 tune-1 - -
— Pythia 8.308 tune-2c \ -
= Pythia 8.308 tune-2m = =
= ] — S
o ‘\\‘\‘\‘/)rﬂ;‘/aﬁ\\ |
1 | 1 1 1 1 1 1 1 I\l\l\ 1 1 1 1 1 1 1 |

10°
sgrt{d_3} [GeV]

Rivet 3.1.10, = 2.2M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


